4000 m
17.895 m

f= -0.010 m

R

|b=

1500 m

R -

f= -0.019 m

B.947 m
B.9L7 m

<&

1

.l
—_—

ZALOM

ZALOM

ZALOM

\
* N
& N
| E Q
B0 N
3|2 3
ke §
L=}
L)
L=
= =
26—
= I———
-
Fd
=
Mo
[l B~
el o
el b=
= (=9
4
(=%
= 2
g -+
—1 —
-l
o
—
—N
Re
|
=]
Sl
‘:;N
u
]
At R
i | =
1 | o=
! -
| =
i &
I} —
[]
r
I|
L}
k /

0.2718 %,
28.49 m

+82 278

D.1758 Ye
£4.02 m

'T'\

A

+B1.130

0.0000 %
20,00 m

+02.130

0.1875 %
B0.00 m

+62.1280

=

A A

\

Wysokosci niwelefy

M =1500/50
NN 80.00 m

| o8

TEE

(11

1.

0ol
(11N

B84

T4 N

Fi6
E4°

LI’

50

T1HEED

SIE

L¥

sy

S60°

&00°

150

EEL
ZEL

=
=,

1 g6l
bl

Sdl

ir

OEL

1

LT

are’

L¥l’

QBT

oat’

L]

i

18

“Ie

i

‘14

L8

L

e

ia

"I
“If

i
T -1

‘I8

f4]

81

e

"1

“ia

"It

I8

e

it

i

"if

‘I8

‘14

il

‘28

id

“Ia

i

if

[4!
i

a0

&0

L1

¥o

L

TE

e

L74

(.74

(.1

58

ad

Y

#E

5

£t

e

£d

a8

rs

L]

ad

£Q

£l

b

2

ag

aZ

£l

240

Ly

'

F¥y

L4

£

Wysokosci terenu

g

e

g

ey

‘08

‘08

‘08

‘o8

‘e

08

‘08

‘08

i E

g

e

g

i

‘e

8

28

)

g

iE

g

g

£8

i

R

28

4]

28

1

r{

]

i

)

)

K]

]

0d

0k

@5

00°EY

B BE

e

OE

Ol

1]

08

0

09

oy

13

|
T
3+000

Lial
[ -]
[--]
>

06

0|
=N
[
=)

0

0y

0y

QE

Bl

08

o8

11

09

R

113

Odleglosci

3+200

3+100

2+900

4]

L=42.98

A=

. |

A

oo

L=86.08

138.97
L=59.37

325.30

138. 94
39.34

3

11.83

2004.70

L=80.72

| =

L

100

L=110.12

R

Krzywizny 1/R

S o o
N e ..
o SO |< 3
2 —I\ E &
AN |< < Y
5 v O |5 o
—
= = U)LD >
> > =7 o
o —
© —
©
g3
X S ..
[li= ] 9
co.% a
= L O o
UNO a
N >~ N
il 3}
H:.8 S
coc
S=a© @
G 3]
T2 |2
©-x N 2| 5¢
sSF- |5l =2
nsl IS T2 .
[n iy S| < ()
o532 |8|&3 ol £
T als o SISN
e S DR [ Ta i
g0 [ 8N [XKXH
cea [2]2 <4 B9 N
=39 4% %co %O aN
S2a3(8|9 2 BN 2T
So-o|~]." § =0 SN
Sorg|t [T [oR=3
;E =| = c |IcN L
SdoTa[2]|®8 > |onND
QN S|IX|WR |=alcy
(‘50-’86 Z g)l) X O
o 8N|D]°. O 2o
ONZOlNn|DO LW e -
~0p.0 > ] . a‘
QO a8l | T 2| @
= O o 20 2 g 'CE'
A4 ) < o o -
L 0l x| 2 c =
- vl »n © ©
= Szl gl &
O - al<| O %)
E E l 2 EE
= = I ED”
ey [ e
se || e
E::_']j'_::E
[ =R = ] |I GQE
"y N —] i =
- ! -
w1 TR
-— T i| L= g% =
1
l
!
!
|
I
|
i
l
I
I
1
h
I
i
I
!
i
il
i
h
1l
l
|
I
|
l
I
:
li
1
L]
I
il
i
Kl
1
H
!
1
|
1
I
|
I
|
l
I
i
k
I
b
!
I
il
|
:
:
i
|
h
I
b
I
i
I
Kl
I
il
|
!
1
!
|
II
l
il
]
|
I
k
I
i
:
I
i
I
i
!
1
!
;
l
|
I
K]
:
li
il
I
il
I
il
I
f
l
i
l
i
I
1
l
1
li
K]
li
il
]
i
il
|
]
!
|
I
I
H
H
!:
:
i
‘l
i
!
il
{l
!
!
|
i
l
|
!:
:
I
‘l
:
Il
il
I
ol
i
;
I
h
|
:
I
|
I
I
l
I
i
kl
I
il
i
il
i
!
]
:
i
1
l
I
I
I
i
il
)
!
1
!
|
|
I
:
I
|
i
|
li
1
I
il
I
I
!
|
|
|
I
!
"
Kl
h
li
1
I
Kl
I
1
:
i
1
l
1
ki
i
i
nl
li
'l
li
il
I
il
;
!
I
!
I
i
l
I
h
Ml
li
"l
li
i
4
l
]
I
i
|
|
|
h
]
I
il
I
1
]
i
1
i
il
1
:
|
|
|
|
I
‘l
I
Kl
i
k]
I
il
I
il
i
;
e | 2=
k E
Eao s |I (= = ]
1 | ==
a—— [ -
= @ il il TR
|
i
P ]
=1 =
il o
x! E
= m
B | b
ol v
o) o
= =
ral w
r_.: —
=11
m
e
-,
=
L
w
™~
&
-




